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401 A|H|Z O 17,375,000 11,396,000 5,979,000
=2 15,293,000
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Al 2,082,000
01  AlgH| 17,375,000 11,396,000 5,979,000
O sr2{2|ss 0| RIZHERAIZ(BTO)
17,375,000,000% x 1 Al = 17,375,000
=2 15,293,000
Al 2,082,000
oS TA2| W =374 O 1,000 0 1,000
401 A|EH|ZERCH| 1,000 0 1,000
01  AlgH]| 1,000 0 1,000
O oeZUx2| W =74 O 1,000,000% x 1A = 1,000
Sl S| 3,867,882 6,168,000| 22,300,118
= 2,448,000
Al 1,419,882
ICIAIAR| ULAH| SHRD|R| 21404 HEAL 360,882 4,601,000 24,240,118
401 A|H|Z O 360,882 4,601,000 4,240,118
02 2| 360,882 361,500 A618
O ZAMAE| LAY SHE2|R|Y 250 LAIY
360,882,0008 x 14! = 360,882
TSAIT ot dH| SHRZRY FHIARY 3,507,000 1,067,000 2,440,000
=2 2,448,000
Al 1,059,000
401 A|H|Z O 3,507,000 1,067,000 2,440,000
=2 2,448,000
Al 1,059,000
01  AlgH| 2,997,000 1,067,000 1,930,000
@) :,__ILEZ|__rL |»AEJHH| zJHI'_l-.:I_|Z|OEI JHI:I|A|»
2,997,000,0009 x 14] = 2,997,000
= 2,448,000
Al 549,000
02 &2y 500,000 0 500,000
O = SA|F of-EdH| SHE2IR|Y HHIAY
500,000,0008 x 14| = 500,000
03  AlLSCHH| 10,000 0 10,000
O = SA|F of-EdH| SHE2IR|Y HHIAY
10,000,000 x 14 = 10,000
Stk AH| 4,638,000 2,449,500 2,188,500
(eEe] £H SieAlEE ABISAL 40,000 0 40,000
hot  AjmjaECys) 40,000 0 40,000
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O | A0t @ROFEZE : 2HE(6), Mot
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01 Al 39,568 0 39,568
O geieeld 2 SkeAldE FBISAKLT
40,000,00094 x 98.92/100 = 39,568
03 AlZFCHH] 432 0 432
O deieeld 2 SkeAldE FBISAKLT
40,000,0008 x 1.08/100 = 432
BHE MAQUQ! of2|Hz| Sl ZH|AKY 3,300,000 500,000 2,800,000
40T A|GH|ZSCHH| 3,300,000 500,000 2,800,000
01  AlgH]| 3,123,120 456,850 2,666,270
O ot o LY AZLA| S FH| ARY
3,300,000,000¢ x 94.64/100 = 3,123,120
02 2| 165,000 40,000 125,000
O ot o LY AZHA| S FH| ARY
3,300,000,000% x 5/100 = 165,000
03 | AECHE| 11,880 3,150 8,730
O ot o YY AZLA| S FH| ARY
3,300,000,000¥ x 0.36/100 = 11,880
QUSHTLY FrA| SHEIA 600,000 0 600,000
401 A|H|Z O 600,000 0 600,000
01 Al 596,220 0 596,220
O RUSAHZZ [+2| SHE3A
600,000,0008 x 99.37/100 = 596,220
03  AlMSCHH| 3,780 0 3,780
O RRUSAHZY [+2| SHE3A
600,000,00084 x 0.63/100 = 3,780
01E A0 248U ZHISA 178,000 100,000 78,000
40T AlGH|ZECHH| 178,000 100,000 78,000
01 Al 178,000 99,100 78,900
O O =0k @242 HHISA
178,000,000% x 14! = 178,000
N2 ST HHARI(REE) 200,000 550,000 350,000
40T A|GH|ZECHH| 200,000 550,000 £350,000
01  Al&H| 200,000 546,940 346,940
O 2t2Ad 33 SZE 2 12 7I8RITE(L)
200,000,0008 x 14} = 200,000
R IRIC0lAE 2RI Sl ARY(TEE) 320,000 260,000 60,000
401 A|H|Z O 320,000 260,000 60,000
01  AlgH| 316,868 258,920 57,948
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T HOPE AR CIOAY HISAIY, 2, 2 oae | D55 | 32
O DIEE 929-1¥2] U 242t FR|SAHAT)
50,000,000 x 98.92/100 = 49,460
O DY A=0k R4 GXISAHAD
30,000,0009 x 98.92/100 = 29,676
O £25 138 24UZ2 BLZAHAD
20,000,00094 x 98.92/100 = 19,784
O UL RLA|EE FHISAHORR2])
180,000,000% x 99.1/100 = 178,380
O & 1052 ol HR[SAHL)
40,000,00094 x 98.92/100 = 39,568
03  AlGSChs| 3,132 1,080 2,052
O DIEE 929-1¥2] U 242 FR|SAHAT)
50,000,000¥ x 1.08/100 = 540
O DY AI=0k2 R4 GRISAHAD
30,000,0009 x 1.08/100 = 324
O 225 138 8=z B83AH
20,000,0009 x 1.08/100 = 216
O QAU RLA|EE FHISAKORR2])
180,000,000 x 0.9/100 = 1,620
O s 105¥2] sl MRIZGAHLT)
40,000,0008 x 1.08/100 = 432
T 78,082 953,392 875,310
Hrgust 78,082 953,392 875,310
=L R Bk} 78,082 899,208 821,126
802 Btelg7|Et 78,082 899,208 N821,126
01 ZnERIUEZ 78,082 899,208 ~821,126
O Ol4eA| LE54a ZURAH2019) 78,082
o HhirioH 73,081,6509 x 14! = 73,082
o O[# 5,000,0008 x 14} = 5,000
01| ]H|(R}2) 255,990 255,990 0
OjlH|H|(R}2) 255,990 255,990 0
ClE 5] (RE20]14h) 255,990 255,990 0
801  ofl5[H| 255,990 255,990 0
01  EHoj|d(H| 255,990 255,990 0
O 2025H% ZH=0i|AH ofH|H| 255,990,0008 x 14! = 255,990






